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" 4 N D
g%OEM ZEANT bV l
[p.8]

1 AB=/{4—172+7 4 +(—7+1)°=8/6
2:(—=2)+3-2 2-1+3-5 2:5+3-(—3)
2 P( 342 3+2 342 )
2 17 1

20, #(5 5 )

—2:(=2)+32 —2.1+3-5 —2:5+3-(=3)
Q< 39 ' 3-2 ° 3-9 >

&Y, Qo, 13, —19)
3 A B, L YDfLE
7 WVE 4, b,

NEIHITERT,
= b+
(1) MQ: 2 D
_a+b_<c—a
2 2
. so_ctd atd_c—a
¥7:, PN="+ R

MQ=PN kY, MQ=PN, MQ/PN
X 5T, MK MQNP (3547 U

2) MN, PQ, RSOHi %% G, G, G & L,
FOMESI MR g, ¢y G ETDE

G="E L ((+F+C+d)

2
G=LT 42 (G+d+T+7)
G="F S =L (G+T+T+d)

PLENRT PIVH—RT B L6, Gi, G, Gs
BRILETH 2, CHE%®GELT, MN,
PQ, RSIZ14 G TXb 2,
4 AB=(5-1, 1-(-1), —1-2)=@4, 2, —3)
5 (1) 2¢2—5=3, —6, 5)
|2a =5 |=V3?+(—6)*+5=,T0
@) | @ |=vyIEF(—3+42=,26

@ LRLHAEDOBM~RY b
<L _3 JL)
V267 V267 /26
6 «-b5=11+1-(-2)+2-(-1)=-3
[p.9]
7 (1) AB=BC=CA=/6 &V, =fi¥ ABC
i3, 1:2/6 OE=ARK
2) Plx, y, 0) &BL L
AP*=(x—1)*+(y—1)*+4*
BP*=(x—2)*+(y—2)*+2?
CP?=(x—3)*+y*+3?
AP*=BP? 5, x+y=—3 - @
BP?*=CP2» 5, x—2y=3 -+ @
@, @5, x=—-1, y=—2
£-7C, (=1, =2, 0)
12 2
8 (011 1)
9 (1) A2, —1, —5), A(—2, —1, 5)
4—2+4 5+4+0 1+2+3
I i et
0, G2, 3, 2
@) Clz, v, 2)&T2&
3-2+x:3 3-1+ty _
1+3 > 143
kY, x=6, y=9, z=16
£-7, €6, 9, 16)
4 Plx, y, 2) B L
AP’ =(x—2)*+(y—2)*+(z2—1)?
BP?’=(x—1)*+(y—3)*+(z+1)*
CP’=(x—1)\+(y—1)*+(2+1)*
AP*=BP? L), z—y+22+1=0 - @
BP’=CP* & 0, y=2 ---- &)
D, @05, r=—2z+1
P(—2z+1, 2, 2) L% 5H5
2)2 21

OPZ:(—22+1)2+4+22=5<2—€ +?

3-(—4)+z
5 133 1

=2 prx, OP %S,
o7, P(%, 2, %)
0 x#cELTBERHBAREB LT 2L
B(5, —12, —16) Th ), AP+PB ok
20, A, P, BaA—fifbichsLsT
AB =FAP 7c 3 EDFAETIUS L\
P(x, 0, 0) &B< &
(-1, —18, —24)=k(x—6, —6, —8) &V

_ _17 17
k=3, 2=l o<, P<3 .0, o)

11 AD’=(z—2)+(y—2)*+2* - @)
BDZZ(I—2>2+Z/2+(Z+2)2 ...... ®
CDP =+ (y— 2P + (242 @
O=0@4&Y, y=—2z ©@=@%H, z=y
N, x=y=—z - @





